Grammar Mentor Joy PLUS 2

p 20 8% Heath -> Health

p 32 48 (E= ¢t the bus, tires -> the bus, the tires)
One of is flat.
2= 270 =7t
* ML HEF £ the tires of the bus

p 63 8% [I've have seen -> | have seen

p 64 109 | talk -> | tell

p 91 1 9% talk anyone -> talk to anyone

p 107 12 talk -> talk to

P45 4" ZZ earning -> earring (BAF -> F=SEIE +=7)
i

p 83 5 O/M= 2SI --> XM= 2t

p 89 20f 2% 0|Z{0] 2=2f HZ0[ -> 0[O0 2=2| HEO0[L|?

Grammar Mentor Joy PLUS 2 A EX]

p 6 30| 4#H =7 the, tires, of, the bus

p26 128 tires -> tries

p 31 15 more exciting -> most exciting

p 32 7% more beautiful -> more peaceful
89 larger than -> later than

p 32 Warm up 1 6 better -> more

p 34 3 7% better and more -> better and better




